AGREEMENT FOR "PIGGYBACK" PURCHASE

Contract Ref. #25-0597-PB Rehabilitation Services for Sanitary Sewer Mains and Stormwater Mains

This Agreement ("Agreement") is entered into on the date last executed below ("Effective Date"), by and between Pinellas County, a subdivision of the State of Florida whose primary address is 315 Court Street, Clearwater, Florida 33756 ("County") and Insituform Technologies, LLC whose primary address is 580 Goddard Ave., Chesterfield, MO 33005 ("Contractor") (jointly, the "Parties").

WHEREAS, the County is authorized to procure goods and services based on the contract terms and pricing received by other governmental competitive solicitation processes which are made available to local public procurement units; and

WHEREAS, following a competitive procurement process, the City of Daytona Beach entered into Contract No. 2506 for Rehabilitation Services for Sanitary Sewer Gravity Mains and Oval and Round Stormwater Mains, effective April 3, 2025 (the "CITY OF DAYTONA BEACH AGREEMENT"); and

WHEREAS, the County has elected to utilize resulting contract terms and pricing of the cooperative procurement or solicitation as reflected in the CITY OF DAYTONA BEACH AGREEMENT; and

WHEREAS, Contractor represents that it has the experience and expertise to provide the Goods and Services as set forth in this Agreement.

NOW THEREFORE, the Parties agree as follows:

- A. **Documents Comprising Agreement**. This Agreement and the documents listed below, constitutes the entire agreement and understanding of the Parties with respect to the transactions and services contemplated hereby and supersedes all prior agreements, arrangements, and understandings relating to the subject matter of the Agreement. The documents listed below are hereby incorporated into and made a part of this Agreement:
 - 1. This Agreement
 - 2. Exhibit A titled Pinellas County Standard Terms & Conditions
 - 3. Exhibit B titled Insurance Requirements
 - 4. Exhibit C titled Pricing Proposal
 - 5. Exhibit D titled City of Daytona Beach Agreement
 - 6. Exhibit E titled City of Daytona Beach Invitation to Bid
 - 7. Exhibit F titled Insituform Technologies, LLC ITB Response
 - 8. Exhibit G titled Bond Packet
- B. **Term**. The initial term of this Agreement is effective from the Effective Date through April 2, 2028. The parties may extend this agreement in conjunction with any extensions made to the CITY OF DAYTONA BEACH AGREEMENT by a mutually agreed upon written amendment to this Agreement. If the parties desire to extend past the expiration date of the CITY OF DAYTONA BEACH AGREEMENT, the parties may do so by entering into a mutually agreed upon written amendment to this Agreement. The Agreement will not automatically renew.

C. **Expenditures Cap**. Payment and pricing terms for the initial and renewal terms are subject to the cost or fee schedule in Exhibit C Notwithstanding the above, County expenditures under the Agreement will not exceed \$250,000.00 annually without a written amendment to this Agreement.

D. Modifications to the CITY OF DAYTONA BEACH AGREEMENT.

- 1. The County as the Contracting Party. All references within the CITY OF DAYTONA BEACH AGREEMENT to the CITY OF DAYTONA BEACH will be interpreted as pertaining to the County. It is understood that wherever the words "City", "City of Daytona Beach", or other references to the City of Daytona Beach that appear in the CITY OF DAYTONA BEACH AGREEMENT, shall be read as "Pinellas County." Any term in the CITY OF DAYTONA BEACH AGREEMENT that is applicable in law or fact solely to the City of Daytona Beachthat cannot be reasonably applied to the County is severed from the Agreement, with no effect on the remaining terms.
- 2. Insurance. The Contractor must provide a certificate of insurance and endorsement in accordance with the insurance requirements listed in Exhibit B. The Contractor shall obtain and maintain, and require any subcontractor(s) to obtain and maintain, at all times during its performance of the Agreement in the amounts set forth in the noted exhibit. For Agreements with a Completed Operations exposure, Vendor shall maintain coverage and provide evidence of insurance for 2 years beyond final acceptance. All insurance policies shall be from responsible companies duly authorized to do business in the State of Florida and have an AM Best rating of VIII or better.
- 3. Section 9 titled Effective Date and Term of the CITY OF DAYTONA BEACH AGREEMENT is revised to clarify that, as between the County and Contractor, the "Effective Date" is the date listed above. Should the CITY OF DAYTONA BEACH Agreement terminate before the end of the term of the Agreement between the County and Contractor, all applicable terms of the conditions of the CITY OF DAYTONA BEACH AGREEMENT incorporated herein will remain in full force and effect.
- 4. **Section 15 titled Notice of the CITY OF DAYTONA BEACH AGREEMENT** is revised to substitute the following County contact information:

Pinellas County

Attn: Gayle May, CPPB, NIGP-CPP

400 S Ft Harrison

(727) 464-3795

gmay@pinellas.gov

- 5. Section 19 titled Dispute resolution of the CITY OF DAYTONA BEACH AGREEMENT is intentionally omitted from the Agreement.
- 6. Section 20 titled General Terms and Conditions, subsection i titled Venue of the CITY OF DAYTONA BEACH AGREEMENT is intentionally omitted from the Agreement

- 7. Section 20 titled General Terms and Conditions, subsection j titled Litigation Costs of the CITY OF DAYTONA BEACH AGREEMENT is intentionally omitted from the Agreement.
- 8. Section 20 titled General Terms and Conditions, subsection I titled Jury Trial Waived of the CITY OF DAYTONA BEACH AGREEMENT is intentionally omitted from the Agreement.
- 9. Exhibit A. Section II.B. titled Contractor Qualifications of the CITY OF DAYTONA BEACH AGREEMENT is revised to increase the minimum bonding capacity to \$250,000.00. The successful bidder must supply performance and payment bonds after the full execution of the contract. All bonds must be signed by an insurance agent who is licensed to do business in the state of Florida. The license may be held by a resident agent or a nonresident agent. The payment and performance bonds shall be submitted in the form of the Bond Packet attached hereto as Exhibit G. The County will supply the bond packet to be completed by the contractor after full execution of the contract.
- E. ENTIRETY. This Agreement constitutes the entire agreement between the Parties.

IN WITNESS WHEREOF, the Parties have caused this Agreement to be executed by their undersigned officials, who are duly authorized to bind the Parties to the Agreement.

FOR CONTRACTOR:

Insituform Technologies, LLC

DELAWARE

Print Name & Title Diane Partridge, Contracting and Attesting Officer

Date August 12, 2025

For COUNTY:

Signature

Barry Buston Print Name & Title Barry Burton - County Administrator

Date 9/4/2025

APPROVED AS TO FORM

By: Keiah Townsend

Office of the County Attorney

EXHIBIT A - PINELLAS COUNTY STANDARD TERMS & CONDITIONS

Pinellas County Standard Terms & Conditions, located on Pinellas County Purchasing's website, effective 4/10/2025, posted at https://pinellas.gov/county-standard-terms-conditions/ is incorporated into and made part of this Agreement.

EXHIBIT B - INSURANCE REQUIREMENTS

1. INSURANCE:

The Vendor must provide a certificate of insurance and endorsement in accordance with the insurance requirements listed below, prior to recommendation for award.

The Vendor shall obtain and maintain and require any subcontractor to obtain and maintain, at all times during its performance of the Agreement, insurance of the types and in the amounts set forth. For projects with a Completed Operations exposure, Vendor shall maintain coverage and provide evidence of insurance for two (2) years beyond final acceptance. All insurance policies shall be from responsible companies duly authorized to do business in the State of Florida and have an AM Best rating of A- VIII or better.

A. Submittals should include, the Vendor's current Certificate(s) of Insurance. If Vendor does not currently meet insurance requirements, Vendor shall also include verification from their broker or agent that any required insurance not provided at that time of submittal will be in place prior to the award of contract.

Upon selection of Vendor for award, the selected Vendor shall email certificate that is compliant with the insurance requirements. If the certificate received is compliant, no further action may be necessary. The Certificate(s) of Insurance shall be signed by authorized representatives of the insurance companies shown on the Certificate(s).). The Certificate holder section shall indicate Pinellas County, a Political Subdivision of the State of Florida, 400 S Fort Harrison Ave, Clearwater, FL 33756. Pinellas County, a Political Subdivision of the State of Florida shall be named as an Additional Insured for General Liability. A Waiver of Subrogation for Workers Compensation shall be provided if Workers Compensation coverage is a requirement.

- B. Approval by the County of any Certificate(s) of Insurance does not constitute verification by the County that the insurance requirements have been satisfied or that the insurance policy shown on the Certificate(s) of Insurance is in compliance with the requirements of the Agreement. County reserves the right to require a certified copy of the entire insurance policy, including endorsement(s), at any time during the Bid and/or contract period.
- C. If any insurance provided pursuant to the Agreement expires or cancels prior to the completion of the Work, you will be notified by CTrax, the authorized vendor of Pinellas County. Upon notification, renewal Certificate(s) of Insurance and endorsement(s) shall be furnished to Pinellas County Risk Management at lnsuranceCerts@pinellas.gov and to CTrax c/o JDi Data at PinellasSupport@ididata.com by the Vendor or their agent prior to the expiration date.
 - 1) Vendor shall also notify County within seventy-two (72) hours after receipt, of any notices of expiration, cancellation, nonrenewal or adverse material change in coverage received by said Vendor from its insurer Notice shall be given by email to Pinellas County Risk Management at lnsuranceCerts@pinellas.gov. Nothing contained herein shall absolve Vendor of this requirement to provide notice.
 - 2) Should the Vendor, at any time, not maintain the insurance coverages required herein, the County may terminate the Agreement,

D. If subcontracting is allowed under this Bid, the Primary Vendor shall obtain and maintain, at all times during its performance of the Agreement, insurance of the types and in the amounts set forth; and require any subcontractors to obtain and maintain, at all times during its performance of the Agreement, insurance limits as it may apply to the portion of the Work performed by the subcontractor; but in no event will the insurance limits be less than \$500,000 for Workers' Compensation/Employers' Liability, and \$1,000,000 for General Liability and Auto Liability if required below.

All subcontracts between the Vendor and its Subcontractors shall be in writing and are subject to the County's prior written approval. Further, all subcontracts shall

- 1. Require each Subcontractor to be bound to the Vendor to the same extent the Vendor is bound to the County by the terms of the Contract Documents, as those terms may apply to the portion of the Work to be performed by the Subcontractor;
- 2. Provide for the assignment of the subcontracts from the Vendor to the County at the election of Owner upon termination of the Contract;
- 3. Provide that County will be an additional indemnified party of the subcontract;
- 4. Provide that the County will be an additional insured on all insurance policies required to be provided by the Subcontractor except workers compensation and professional liability;
- Provide a waiver of subrogation in favor of the County and other insurance terms and/or conditions
- 6. Assign all warranties directly to the County; and
- 7. Identify the County as an intended third-party beneficiary of the subcontract. The Vendor shall make available to each proposed Subcontractor, prior to the execution of the subcontract, copies of the Contract Documents to which the Subcontractor will be bound by this Section C and identify to the Subcontractor any terms and conditions of the proposed subcontract which may be at variance with the Contract Documents.
- E. Each insurance policy and/or certificate shall include the following terms and/or conditions:
 - The Named Insured on the Certificate of Insurance and insurance policy must match the entity's name that responded to the solicitation and/or is signing the agreement with the County.
 - Companies issuing the insurance policy, or policies, shall have no recourse against County for payment of premiums or assessments for any deductibles which all are at the sole responsibility and risk of Vendor.
 - 3) The term "County" or "Pinellas County" shall include all Authorities, Boards, Bureaus, Commissions, Divisions, Departments and Constitutional offices of County and individual members, employees thereof in their official capacities, and/or while acting on behalf of Pinellas County.
 - 4) All policies shall be written on a primary, non-contributory basis.

The minimum insurance requirements and limits for this Agreement, which shall remain in effect throughout its duration and for two (2) years beyond final acceptance for projects with a Completed Operations exposure, are as follows:

1) Workers' Compensation Insurance Worker's Compensation Insurance is required if required pursuant to Florida law. If, pursuant to Florida law, Worker's Compensation Insurance is required, employer's liability, also known as Worker's Compensation Part B, is also required in the amounts set forth herein.

Limits

Employers' Liability Limits Florida Statutory

Per Employee \$ 500,000

Per Employee Disease Policy Limit \$ 500,000

Disease \$ 500,000

If Vendor/Contractor is not required by Florida law, to carry Workers Compensation Insurance in order to perform the requirements of this Agreement, County Waiver Form for workers compensation must be executed, submitted, and accepted by Risk Management. Failure to obtain required Worker's Compensation Insurance without submitting and receiving a waiver from Risk Management constitutes a material breach of this Agreement.

2) <u>Commercial General Liability Insurance</u> including, but not limited to, Independent Vendor, Contractual Liability Premises/Operations, Products/Completed Operations, and Personal Injury. No explosion, collapse, or underground damage exclusions allowed.

Limits

Combined Single Limit Per Occurrence	\$ 1,000,000
Products/Completed Operations Aggregate Personal Injury and Advertising Injury	\$ 2,000,000
General Aggregate	\$ 1,000,000
	\$ 2,000,000

3) Business Automobile or Trucker's/Garage Liability Insurance covering owned, hired, and non-owned vehicles. If the Consultant does not own any vehicles, then evidence of Hired and Non-owned coverage is sufficient. Coverage shall be on an "occurrence" basis, such insurance to include coverage for loading and unloading hazards, unless Consultant can show that this coverage exists under the Commercial General Liability policy.

Limit

Combined Single Limit Per Accident \$1,000,000

4) Excess or Umbrella Liability Insurance excess of the primary coverage required, in paragraphs (1), (2), and (3) above. No explosion, collapse, or underground damage exclusions allowed.

Limits

Each Occurrence \$ 1,000,000

General Aggregate \$ 1,000,000

- 5) Pollution Legal/Environmental Legal Liability Insurance for pollution losses arising from all services performed to comply with this contract. Coverage shall apply to sudden and gradual pollution conditions including the discharge, dispersal, release or escape of smoke, vapors, soot, fumes, acids, alkalis, toxic chemicals, liquids or gases, waste materials or other irritants, contaminants or pollutants into or upon land, the atmosphere or any watercourse or body of water, which results in Bodily Injury or Property Damage. If policy is written on a Claims Made form, a retroactive date is required, and coverage must be maintained for 3 years after completion of contract or "tail coverage must be purchased. Coverage should include and be for the at least the minimum limits listed below:
 - **a.** Bodily injury, sickness, disease, mental anguish or shock sustained by any person, including death; property damage including physical injury to or destruction of tangible property including the resulting loss of use thereof, cleanup costs, and the loss of use of tangible property that has not been physically injured or destroyed;
 - **b.** Defense including costs, charges and expenses incurred in the investigation, adjustment or defense of claims for such compensation damages.
 - **c.** Cost of Cleanup/Remediation.

Limits

Per Claim or Occurrence \$1,000,000

General Aggregate \$ 1,000,000

For acceptance of Pollution Legal/Environmental Legal Liability coverage included within another policy coverage required herein, a statement notifying the certificate holder must be included on the certificate of insurance and the total amount of said coverage per occurrence must be greater than or equal to the amount of Pollution Legal/Environmental Legal Liability and other coverage combined.

6) Professional Liability (Errors and Omissions) Insurance with at least minimum limits as follows. If "claims made" coverage is provided, "tail coverage" extending three (3) years beyond completion and acceptance of the project with proof of "tail coverage" to be submitted with the invoice for final payment. In lieu of "tail coverage", Proposer may submit annually to the County, for a three (3) year period, a current certificate of insurance providing "claims made" insurance with prior acts coverage in force with a retroactive date no later than commencement date of this contract.

Limits

Title: Rehabilitation Services for Sanitary Sewer Mains and Stormwater Mains

Each Occurrence or Claim \$ 1,000,000

General Aggregate \$ 1,000,000

For acceptance of Professional Liability coverage included within another policy required herein, a statement notifying the certificate holder must be included on the certificate of insurance and the total amount of said coverage per occurrence must be greater than or equal to the amount of Professional Liability and other coverage combined.

7) <u>Property Insurance</u> Vendor will be responsible for all damage to its own property, equipment and/or materials.

EXHIBIT C - PRICING PROPOSAL

				Insituform Technologies, LL	
Line Item	Description	Est. Annual Qty.	Unit of Measure	Unit Price	Extended Price
anitary Sewer	Mains - 8-inch Diameter				1
1	6.0 mm normal thickness (.236")	10000	LF	\$36.00	\$360,000.00
2	7.5 mm normal thickness (.295")	10000	LF	\$39.00	\$390,000.00
3	9.0 mm normal thickness (.354")	5000	LF	\$44.00	\$220,000.00
Sanitary Sewer	Mains - 10-inch Diameter				
4	6.0 mm normal thickness (.236")	400	LF	\$40.00	\$16,000.00
5	7.5 mm normal thickness (.295")	400	LF	\$44.00	\$17,600.00
6	9.0 mm normal thickness (.354")	400	LF	\$52,00	\$20,800.00
anitary Sewer	Mains - 12-inch Diameter				
7	6.0 mm normal thickness (.236")	400	LF	\$45.00	\$18,000.00
8	7.5 mm normal thickness (.295")	400	LF	\$49.00	\$19,600.00
9	9.0 mm normal thickness (.354")	600	LF	\$57.00	\$34,200.00
ianitary Sewer	Mains - 15-inch Diameter				
10	6.0 mm normal thickness (.236")	400	LF	\$53.00	\$21,200.00
11	7.5 mm normal thickness (.295")	400	LF	\$57.00	\$22,800.00
12	9.0 mm normal thickness (.354")	600	LF	\$65.00	\$39,000.00
anitary Sewer	Mains - 18-inch Diameter				
13	6.0 mm normal thickness (.236")	300	LF	\$62.00	\$18,600.00
14	7.5 mm normal thickness (.295")	300	LF	\$67.00	\$20,100.00
15	9.0 mm normal thickness (.354")	300	LF	\$76.00	\$22,800.00
16	10.5 mm normal thickness (.413")	200	LF	\$81.00	\$16,200.00
anitary Sewer I	Mains - 21-inch Diameter				
17	6.0 mm normal thickness (.236")	300	LF	\$74.00	\$22,200.00
18	7.5 mm normal thickness (.295")	300	LF	\$80.00	\$24,000.00
19	9.0 mm normal thickness (.354")	300	LF	\$91.00	\$27,300.00
20	10.5 mm normal thickness (.413")	300	LF	\$98.00	\$29,400.00
21	12.0 mm normal thickness (.472")	200	LF	\$106.00	\$21,200.00
22	Charge for each 1.5 mm thickness increase per LF exceeding 12.0 mm	100	LF	\$8.00	\$800.00
anitary Sewer	Mains - 24-inch Diameter				
23	9.0 mm normal thickness (.354")	300	LF	\$105.00	\$31,500.00
24	10.5 mm normal thickness (.413")	300	LF	\$113.00	\$33,900.00
25	12.0 mm normal thickness (.472")	200	LF	\$123.00	\$24,600.00
26	13.5 mm normal thickness (.531")	300	LF	\$130.00	\$39,000.00
27	15.0 mm normal thickness (.591")	200	LF	\$139.00	\$27,800.00
28	Charge for each 1.5 mm thickness increase per LF exceeding 15.0 mm	100	LF	\$9.00	\$900.00

20	0.0 mm normal thickness / 254"\	300	LF	\$114.00	\$34,200.00
29	9.0 mm normal thickness (.354") 10.5 mm normal thickness (.413")	300	LF	\$124.00	\$37,200.00
30	12.0 mm normal thickness (.413)	200	LF	\$134.00	\$26,800.00
31		300	LF	\$144.00	\$43,200.00
32	13.5 mm normal thickness (.531")	200	LF	\$153.00	\$30,600.00
33	15.0 mm normal thickness (.591")	200	Lr	\$155.00	450,000.00
34	Charge for each 1.5 mm thickness increase per LF exceeding 15.0 mm	100	LF	\$9.00	\$900.00
nitary Sewer	Mains - 30-inch Diameter				
35	9.0 mm normal thickness (.354")	300	LF	\$128.00	\$38,400.00
36	10.5 mm normal thickness (.413")	300	LF	\$137.00	\$41,100.00
37	12.0 mm normal thickness (.472")	200	LF	\$149.00	\$29,800.00
38	13.5 mm normal thickness (.531")	300	LF	\$158.00	\$47,400.00
39	15.0 mm normal thickness (.591")	200	LF	\$167.00	\$33,400.00
40	Charge for each 1.5 mm thickness increase per LF exceeding 15.0 mm	100	LF	\$10.00	\$1,000.00
	Mains - 36-inch Diameter	400	15	¢160.00	\$16,000,00
41	10.5 mm normal thickness (.413")	100	LF	\$169.00	\$16,900.00
42	12.0 mm normal thickness (.472")	100	LF	\$182.00	\$18,200.00
43	13.5 mm normal thickness (.531")	100	LF	\$194.00	\$19,400.00
44	15.0 mm normal thickness (.591")	100	LF	\$206.00	\$20,600.00
45	16.5 mm normal thickness (.650")	100	LF	\$218.00	\$21,800.00
46	18.0 mm normal thickness (.709")	100	LF	\$231.00	\$23,100.00
47	Charge for each 1.5 mm thickness increase per LF exceeding 15.0 mm	100	LF	\$11.00	\$1,100.00
nitany Sower	Mains - 42-inch Diameter				
48	10.5 mm normal thickness (.413")	100	LF	\$201.00	\$20,100.00
49	12.0 mm normal thickness (.472")	100	LF	\$216.00	\$21,600.00
50	13.5 mm normal thickness (.531")	100	LF	\$229.00	\$22,900.00
51	15.0 mm normal thickness (.591")	100	LF	\$242.00	\$24,200.00
52	16.5 mm normal thickness (.650")	50	LF	\$257.00	\$12,850.00
53	18.0 mm normal thickness (.709")	50	LF	\$270.00	\$13,500.00
55	Charge for each 1.5 mm thickness increase	30			
54	per LF exceeding 15.0 mm	100	LF	\$13.00	\$1,300.00
	Southern Source Moins				
	8-inch - 12-inch diameter	6000	LF	\$5.00	\$30,000.00
55 56	14-inch - 18-inch diameter	6000	LF	\$5.00	\$30,000.00
	20-inch - 24-inch diameter	6000	LF	\$8.00	\$48,000.00
57	27-inch - 42-inch diameter	6000	LF	\$11.00	\$66,000.00
58 59	48-inch - 72-inch diameter	6000	LF	\$22.00	\$132,000.00
39	TO MICH 72 MICH CHARLES	5500			
edium Clean	& Inspection - Sanitary Sewer Mains			45.65	420.000.00
60	8-inch - 12-inch diameter	6000	LF	\$5.00	\$30,000.00
61	14-inch - 18-inch diameter	6000	LF	\$6.00	\$36,000.00
62	20-inch - 24-inch diameter	6000	LF	\$8.00	\$48,000.00
63	27-inch - 42-inch diameter	6000	LF	\$14.00	\$84,000.00
64	48-inch - 72-inch diameter	6000	LF	\$27.00	\$162,000.00
eavy Clean &	Inspection - Sanitary Sewer Mains				
65	8-inch - 12-inch diameter	6000	LF	\$5.00	\$30,000.00
66	14-inch - 18-inch diameter	6000	LF	\$8.00	\$48,000.00
UU					

68	27-inch - 42-inch diameter	6000	LF	\$18.00	\$108,000.00
69	48-inch - 72-inch diameter	6000	LF	\$36.00	\$216,000.00
loot Removal,	Clean & Inspection - Sanitary Sewer Mains				
70	8-inch - 12-inch diameter	6000	LF	\$5.00	\$30,000.00
71	14-inch - 18-inch diameter	6000	LF	\$5.00	\$30,000.00
72	20-inch - 24-inch diameter	6000	LF	\$6.00	\$36,000.00
73	27-inch - 42-inch diameter	6000	LF	\$9.00	\$54,000.00
74	48-inch - 72-inch diameter	6000	LF	\$9.00	\$54,000.00
Tuberculation	Cleaning & Inspection - Sanitary Sewer Mains				
75	8-inch - 12-inch diameter	6000	LF	\$18.00	\$108,000.00
76	14-inch - 18-inch diameter	6000	LF	\$27.00	\$162,000.00
77	20-inch - 24-inch diameter	6000	LF	\$30.00	\$180,000.00
78	27-inch - 42-inch diameter	6000	LF	\$31.00	\$186,000.00
79	48-inch - 72-inch diameter	6000	LF	\$36.00	\$216,000.00
80	Protruding Tap Removal	200	Each	\$177.00	\$35,400.00

our (4) inch la	teral connection per ASTM F1216-16				
81	8-inch to 12-inch mainline	10	Each	\$4,386.00	\$43,860.00
82	15-inch to 18-inch mainline	5	Each	\$6,141.00	\$30,705.00
83	21-inch and greater mainline	5	Each	\$14,680.00	\$73,400.00
iv (6) inch late	eral connection per ASTM F1216-16		-		
84	8-inch to 12-inch mainline	10	Each	\$4,386.00	\$43,860.00
85	15-inch to 18-inch mainline	5	Each	\$6,141.00	\$30,705.00
86	21-inch and greater mainline	5	Each	\$14,680.00	\$73,400.00
ight (8) inch la	ateral connection per ASTM F1216-16				
87	8-inch to 12-inch mainline	10	Each	\$4,386.00	\$43,860.00
88	15-inch to 18-inch mainline	5	Each	\$6,141.00	\$30,705.00
89	21-inch and greater mainline	5	Each	\$14,680.00	\$73,400.00
90	Lateral lining 0 to 30' per ASTM F1216-16	100	LF	\$118.00	\$11,800.00
91	Additional Lateral Lining > 30' per ASTM	100	LF	\$36.00	\$3,600.00
92	Lateral Cutout	20	Each	\$410.00	\$8,200.00
93	Lateral Grout	20	Each	\$410.00	\$8,200.00
94	Lateral Service Inspection - 0 - 40 ft.	100	LF	\$24.00	\$2,400.00
95	Lateral Service Inspection >40 ft.	100	LF	\$6.00	\$600.00
	Cleanout Install	ation - S	Sanitary	Sewer Mains	s
our (4) inch cl		10	Each	\$4,036.00	\$40,360.00
96	Grass area Concrete area	10	Each	\$4,621.00	\$46,210.00
97		10	Each	\$4,269.00	\$42,690.00
98	Asphault area	10	Lacii	Ç-1,203.00	Ç 12,000.00
Six (6) inch clea	anout			4,,,,,	\$40.250.00
99	Grass area	10	Each	\$4,036.00	\$40,360.00
100	Concrete area	10	Each	\$4,621.00	\$46,210.00
101	Asphault area	10	Each	\$4,269.00	\$42,690.00
ight (8) inch c	leanout				\$40,360.00

103	Concrete area	10	Each	\$4,621.00	\$46,210.00
104	Asphault area	10	Each	\$4,269.00	\$42,690.00
	CIPP Rehabilit	ation -	Stormw	ater Mains	
	<u>CIFF Rendomt</u>	ation	500111100	acci ivianis	
8-inch Diameter	5.0	500	LF	\$31.00	\$15,500.00
105	6.0 mm normal thickness (.236")	500	LF	\$31.00	\$13,300.00
10-inch Diameter					
106	6.0 mm normal thickness (.236")	400	LF	\$100.00	\$40,000.00
107	7.5 mm normal thickness (.295")	400	LF	\$74.00	\$29,600.00
12-inch Diameter	5.0	750	LF	\$75.00	\$56,250.00
108	6.0 mm normal thickness (.236")	750	LF	\$79.00	\$59,250.00
109	7.5 mm normal thickness (.295")	750	LF	\$75.00	\$33,230.00
15-inch Diameter					
110	6.0 mm normal thickness (.236")	1000	LF	\$87.00	\$87,000.00
111	7.5 mm normal thickness (.295")	1500	LF	\$91.00	\$136,500.00
112	9.0 mm normal thickness (.354")	1000	LF	\$103.00	\$103,000.00
112	Charge for each 1.5 mm thickness increase	100	LF	\$5.00	\$500.00
113	per LF exceeding 9.0 mm	100	-	45.50	7-2-1-2
19 inch Diameter					
18-inch Diameter 114	6.0 mm normal thickness (.236")	1250	LF	\$88.00	\$110,000.00
115	7.5 mm normal thickness (.295")	1250	LF	\$93.00	\$116,250.00
116	9.0 mm normal thickness (.354")	1250	LF	\$105.00	\$131,250.00
117	10.5 mm normal thickness (.413")	1250	LF	\$110.00	\$137,500.00
117	10.5 mm normal diseases (1720)				
	Charge for each 1.5 mm thickness increase	100	LF	\$6.00	\$600.00
118	per LF exceeding 10.5 mm	100	LF	\$6.00	7000.00
21-inch Diameter					4== ====
119	6.0 mm normal thickness (.236")	220	LF	\$123.00	\$27,060.00
120	7.5 mm normal thickness (.295")	220	LF	\$111.00	\$24,420.00
121	9.0 mm normal thickness (.354")	220	LF	\$123.00	\$27,060.00
122	10.5 mm normal thickness (.413")	220	LF	\$131.00	\$28,820.00
123	12.0 mm normal thickness (.472")	200	LF	\$141.00	\$28,200.00
124	Charge for each 1.5 mm thickness increase per LF exceeding 12.0 mm	100	LF	\$8.00	\$800.00
24-inch Diameter					
125	9.0 mm normal thickness (.354")	700	LF	\$143.00	\$100,100.00
126	10.5 mm normal thickness (.413")	700	LF	\$151.00	\$105,700.00
127	12.0 mm normal thickness (.472")	700	LF	\$162.00	\$113,400.00
128	13.5 mm normal thickness (.531")	700	LF	\$170.00	\$119,000.00
129	15.0 mm normal thickness (.591")	700	LF	\$179.00	\$125,300.00
	Charge for each 1.5 mm thickness increase			60.00	¢000.00
130	per LF exceeding 15.0 mm	100	LF	\$9.00	\$900.00
7-inch Diameter	D. C.	220	15	\$152.00	\$33,440.00
	9.0 mm normal thickness (.354")	220	LF	\$152.00	333,440.00
131		220	10	\$162.00	\$35,640,00
	10.5 mm normal thickness (.413") 12.0 mm normal thickness (.472")	220 220	LF LF	\$162.00 \$175.00	\$35,640.00 \$38,500.00

PBA #25-0597-PB Title: Rehabilitation Services for Sanitary Sewer Mains and Stormwater Mains

135	15.0 mm normal thickness (.591")	220	LF	\$194.00	\$42,680.00
136	Charge for each 1.5 mm thickness increase per LF exceeding 15.0 mm	100	LF	\$9.00	\$900.00
0-inch Diameter					
137	9.0 mm normal thickness (.354")	600	LF	\$148.00	\$88,800.00
138	10.5 mm normal thickness (.413")	600	LF	\$158.00	\$94,800.00
139	12.0 mm normal thickness (.472")	600	LF	\$170.00	\$102,000.00
140	13.5 mm normal thickness (.531")	600	LF	\$180.00	\$108,000.00
141	15.0 mm normal thickness (.591")	600	LF	\$189.00	\$113,400.00
142	Charge for each 1.5 mm thickness increase per LF exceeding 15.0 mm	100	LF	\$10.00	\$1,000.00
6-inch Diameter					
143	10.5 mm normal thickness (.413")	500	LF	\$194.00	\$97,000.00
144	12.0 mm normal thickness (.472")	500	LF	\$210.00	\$105,000.00
145	13.5 mm normal thickness (.531")	500	LF	\$223.00	\$111,500.00
146	15.0 mm normal thickness (.591")	500	LF	\$235.00	\$117,500.00
147	16.5 mm normal thickness (.650")	250	LF	\$245.00	\$61,250.00
148	18.0 mm normal thickness (.709")	250	LF	\$258.00	\$64,500.00
149	Charge for each 1.5 mm thickness increase per LF exceeding 18.0 mm	100	LF	\$11.00	\$1,100.00
2-inch Diameter					¢57 500 00
150	10.5 mm normal thickness (.413")	250	LF	\$230.00	\$57,500.00
151	12.0 mm normal thickness (.472")	250	LF	\$246.00	\$61,500.00
152	13.5 mm normal thickness (.531")	250	LF	\$260.00	\$65,000.00
153	15.0 mm normal thickness (.591")	250	LF	\$274.00	\$68,500.00
154	16.5 mm normal thickness (.650")	250	LF	\$288.00	\$72,000.00
155	18.0 mm normal thickness (.709")	250	LF	\$301.00	\$75,250.00
156	Charge for each 1.5 mm thickness increase per LF exceeding 18.0 mm	100	LF	\$13.00	\$1,300.00
8-inch Diameter					
157	12.0 mm normal thickness (.472")	200	LF	\$280.00	\$56,000.00
158	13.5 mm normal thickness (.531")	200	LF	\$297.00	\$59,400.00
159	15.0 mm normal thickness (.591")	200	LF	\$312.00	\$62,400.00
160	16.5 mm normal thickness (.650")	200	LF	\$328.00	\$65,600.00
161	18.0 mm normal thickness (.709")	200	LF	\$342.00	\$68,400.00
162	19.5 mm normal thickness (.768")	100	LF	\$366.00	\$36,600.00
163	21.0 mm normal thickness (.827")	100	LF	\$379.00	\$37,900.00
164	Charge for each 1.5 mm thickness increase per LF exceeding 21.0 mm	100	LF	\$14.00	\$1,400.00
a in the Direct					
2-inch Diameter	10.5 mm normal thickness (.413")	40	LF	\$281.00	\$11,240.00
165	12.0 mm normal thickness (.413")	40	LF	\$300.00	\$12,000.00
166		40	LF	\$318.00	\$12,720.00
167	13.5 mm normal thickness (.531")	40	LF	\$335.00	\$13,400.00
168	15.0 mm normal thickness (.591")	40	LF	\$350.00	\$14,000.00
	16.5 mm normal thickness (.650")	40	LF	\$367.00	\$14,680.00
169				2201.00	V = 1,000.00
170	18.0 mm normal thickness (.709")				\$15,600,00
	18.0 mm normal thickness (.709) 19.5 mm normal thickness (.768") 21.0 mm normal thickness (.827")	40	LF LF	\$390.00 \$407.00	\$15,600.00 \$16,280.00

PBA #25-0597-PB Title: Rehabilitation Services for Sanitary Sewer Mains and Stormwater Mains

174	Charge for each 1.5 mm thickness increase per LF exceeding 22.5 mm	200	LF	\$14.00	\$2,800.00
4-inch Diameter					
175	10.5 mm normal thickness (.413")	50	LF	\$314.00	\$15,700.00
176	12.0 mm normal thickness (.472")	50	LF	\$333.00	\$16,650.00
177	13.5 mm normal thickness (.531")	50	LF	\$351.00	\$17,550.00
178	15.0 mm normal thickness (.591")	50	LF	\$368.00	\$18,400.00
179	16.5 mm normal thickness (.650")	50	LF	\$384.00	\$19,200.00
180	18.0 mm normal thickness (.709")	50	LF	\$403.00	\$20,150.00
181	19.5 mm normal thickness (.768")	50	LF	\$425.00	\$21,250.00
182	21.0 mm normal thickness (.827")	50	LF	\$582.00	\$29,100.00
183	22.5 mm normal thickness (.886")	200	LF	\$602.00	\$120,400.00
184	Charge for each 1.5 mm thickness increase per LF exceeding 22.5 mm	200	LF	\$14.00	\$2,800.00
0-inch Diameter					
185	10.5 mm normal thickness (.413")	50	LF	\$832.00	\$41,600.00
186	12.0 mm normal thickness (.472")	50	LF	\$865.00	\$43,250.00
187	13.5 mm normal thickness (.531")	50	LF	\$888.00	\$44,400.00
188	15.0 mm normal thickness (.591")	50	LF	\$910.00	\$45,500.00
189	16.5 mm normal thickness (.650")	50	LF	\$930.00	\$46,500.00
190	18.0 mm normal thickness (.709")	50	LF	\$954.00	\$47,700.00
191	19.5 mm normal thickness (.768")	50	LF	\$991.00	\$49,550.00
192	21.0 mm normal thickness (.827")	50	LF	\$1,014.00	\$50,700.00
193	22.5 mm normal thickness (.886")	200	LF	\$542.00	\$108,400.00
194	Charge for each 1.5 mm thickness increase per LF exceeding 22.5 mm	200	LF	\$40.00	\$8,000.00
72-inch Diameter					
195	10.5 mm normal thickness (.413")	50	LF	\$564.00	\$28,200.00
196	12.0 mm normal thickness (.472")	50	LF	\$819.00	\$40,950.00
197	13.5 mm normal thickness (.531")	50	LF	\$844.00	\$42,200.00
198	15.0 mm normal thickness (.591")	50	LF	\$869.00	\$43,450.00
199	16.5 mm normal thickness (.650")	50	LF	\$894.00	\$44,700.00
200	18.0 mm normal thickness (.709")	50	LF	\$921.00	\$46,050.00
201	19.5 mm normal thickness (.768")	50	LF	\$955.00	\$47,750.00
202	21.0 mm normal thickness (.827")	50	LF	\$982.00	\$49,100.00
203	22.5 mm normal thickness (.886")	200	LF	\$1,006.00	\$201,200.00
204	Charge for each 1.5 mm thickness increase per LF exceeding 22.5 mm	200	LF	\$22.00	\$4,400.00
ight Clean & Inspe	ction - Stormwater Mains				
205	8-inch - 12-inch diameter	6000	LF	\$5.00	\$30,000.00
206	14-inch - 18-inch diameter	6000	LF	\$6.00	\$36,000.00
207	20-inch - 24-inch diameter	6000	LF	\$9.00	\$54,000.00
208	27-inch - 42-inch diameter	6000	LF	\$14.00	\$84,000.00
209	48-inch - 72-inch diameter	6000	LF	\$30.00	\$180,000.00
Лedium Clean & Ir	spection - Stormwater Mains			45.65	422.000.00
210	8-inch - 12-inch diameter	6000	LF	\$5.00	\$30,000.00
211	14-inch - 18-inch diameter	6000	LF	\$5.00	\$30,000.00
212	20-inch - 24-inch diameter	6000	LF	\$8.00	\$48,000.00
213	27-inch - 42-inch diameter	6000	LF	\$15.00	\$90,000.00
	The second secon		LF	\$32.00	\$192,000.00

leaw Clean & In	spection - Stormwater Mains	-			
215	8-inch - 12-inch diameter	6000	LF	\$5.00	\$30,000.00
216	14-inch - 18-inch diameter	6000	LF	\$8.00	\$48,000.00
217	20-inch - 24-inch diameter	6000	LF	\$10.00	\$60,000.00
218	27-inch - 42-inch diameter	6000	LF	\$24.00	\$144,000.00
219	48-inch - 72-inch diameter	6000	LF	\$36.00	\$216,000.00
219	40-IIICII - 72-IIICII diametei	0000		V	,,
Root Removal, C	lean & Inspection - Stormwater Mains				
220	8-inch - 12-inch diameter	6000	LF	\$5.00	\$30,000.00
221	14-inch - 18-inch diameter	6000	LF	\$5.00	\$30,000.00
222	20-inch - 24-inch diameter	6000	LF	\$6.00	\$36,000.00
223	27-inch - 42-inch diameter	6000	LF	\$9.00	\$54,000.00
224	48-inch - 72-inch diameter	6000	LF	\$9.00	\$54,000.00
Tuberculation Cl	eaning & Inspection - Stormwater Mains				
225	8-inch - 12-inch diameter	6000	LF	\$1.00	\$6,000.00
225	14-inch - 18-inch diameter	6000	LF	\$2.00	\$12,000.00
226	20-inch - 24-inch diameter	6000	LF	\$5.00	\$30,000.00
	27-inch - 42-inch diameter	6000	LF	\$5.00	\$30,000.00
228	48-inch - 72-inch diameter	6000	LF	\$6.00	\$36,000.00
229	48-inch - 72-inch diameter	0000		\$0.00	ÇOOJOOTIO
Stormwater Man	hole Cleaning				
230	Stormwater Manhole Cleaning	2800	SF	\$13.00	\$36,400.00
	Δncill	ary Gene	eral Serv	vices	
Dy pace Dumpine	(Sanitary Sewer)	ury denie	- I	1000	
231	8-inch Diameter Gravity Main	2000	LF	\$2.00	\$4,000.00
232	10-inch Diameter Gravity Main	2000	LF	\$2.00	\$4,000.00
233	12-inch Diameter Gravity Main	2000	LF	\$6.00	\$12,000.00
233	15-inch Diameter Gravity Main	2000	LF	\$14.00	\$28,000.00
234	18-inch Diameter Gravity Main	2000	LF	\$24.00	\$48,000.00
235	21-inch Diameter Gravityn Main	2000	LF	\$30.00	\$60,000.00
	24-inch Diameter Gravity Main	2000	LF	\$41.00	\$82,000.00
237	27-inch Diameter Gravity Main	2000	LF	\$48.00	\$96,000.00
238		2000	LF	\$53.00	\$106,000.00
239	30-inch Diameter Gravity Main	2000	LF	\$59.00	\$118,000.00
240	36-inch Diameter Gravity Main	15		\$3,102.00	\$46,530.00
241	Tanker Truck	15	Day	\$5,102.00	\$40,330.00
Standard Service	Reconnection				
242	Standard Service Reconnection	50	Each	\$410.00	\$20,500.00
Traffic Control		-			
Traffic Control	Traffic Countries MOT index 601 ox 603	15	Day	\$528.00	\$7,920,00

\$7,920.00

\$28,080.00

\$52,665.00

\$6,330.00

\$22,461.00

\$42,111.00

\$7,029.00

\$43,890.00

\$5,570.00

\$528.00

\$1,872.00

\$3,511.00

\$2,110.00

\$7,487.00

\$14,037.00

\$2,343.00

\$2,926.00

\$1,114.00

Day

Day

Day

Week

Week

Week

Week

Setup

Each

15

15

15

3

3

3

3

15

5

Traffic Control - MOT index 601 or 602

Traffic Control - MOT index 604 or higher

Traffic Control - MOT index 603

Traffic Control - MOT index 603

VMS Board

Traffic Detour Setup

Traffic Control Plan

Traffic Control - MOT 604 or higher Traffic Control - MOT Index 601 or 602

243

244

245

246

247

248

249

250

251

Title: Rehabilitation Services for Sanitary Sewer Mains and Stormwater Mains

2/0	bolius - (Estillate for bluding rurposes)	1.0	. s. cer.rage	BASE TOTAL	\$13,754,510.00
270	Bonds - (Estimate for Bidding Purposes)	1.5	Percentage		\$203,269.00
Bonds					
269	Mobilization	20	Setup	\$3,300.00	\$110,000.00
Nobilization	AA-1-02	20	Setup	\$5,500.00	\$110,000.00
. (11					
268	Gutter Buddy	100	Each	\$66.00	\$6,600.00
267	Floating Turbidity Barrier	200	LF	\$30.00	\$6,000.00
266	Silt Fencing	200	LF	\$5.00	\$1,000.00
rosion and Sed				Ar oo	£1 000 C0
265	Chemical and Physical Product Testing	10	Each	\$351.00	\$3,510.00
Chemical and Ph	ysical Product Testing				
264	Grout Fill Abandoned Pipe	1000	CY	\$177.00	\$177,000.00
Frout Fill Aband	oned Pipe				
203	TO HELL ST HIGH GIAMORE				
263	48-inch - 54-inch diameter	100	LF	\$18.00	\$1,800.00
262	36-inch - 42-inch diameter	100	LF	\$13.00	\$1,300.00
261	27-inch - 30-inch diameter	100	LF	\$11.00	\$1,100.00
260	20-inch - 24-inch diameter	100	LF	\$8.00	\$800.00
259	14-inch - 18-inch diameter	100	LF	\$5.00	\$500.00
258	6-inch - 12-inch diameter	100	LF	\$5.00	\$500.00
acoment Acces	s (Accessiblity/Limited Access)				
257	40 to 54 diameter stormwater main	0000	-	92 1100	4-1,100
257	48" to 54" diameter stormwater main	6000	LF	\$14.00	\$84,000.00
256	36" to 42" diameter stormwater main	6000	LF	\$15.00	\$76,000.00
255	27" to 30" diameter stormwater main	6000	LF	\$13.00	\$78,000.00
254	20" to 24" diameter stormwater main	6000	LF	\$10.00	\$60,000.00
253	14" to 18" diameter stormwater main	6000	LF	\$5.00	\$30,000.00
252	6" to 12" diameter stormwater main	6000	LF LF	\$1.00 \$1.00	\$6,000.00 \$6,000.00

Additive Alternate No. 1

Line Item		Est. Annual Qty.		Insituform Technologies, LLC	
	Description		Unit of Measure	Unit Price	Extended Price
Sanitary Sewer -	Line Reconstruction SDR < 10' Depth				
271	15-inch Diameter	100	LF	\$326.00	\$32,600.00
272	18-inch Diameter	100	LF	\$351.00	\$35,100.00
273	24-inch Diameter	100	LF	\$463.00	\$46,300.00
274	30-inch Diameter	100	LF	\$557.00	\$55,700.00
275	36-inch Diameter	100	LF	\$700.00	\$70,000.00
276	42-inch Diameter	100	LF	\$713.00	\$71,300.00
277	48-inch Diameter	100	LF	\$1,432.00	\$143,200.00
278	54-inch Diameter	100	LF	\$1,800.00	\$180,000.00
279	60-inch Diameter	100	LF	\$2,400.00	\$240,000.00
280	66-inch Diameter	50	LF	\$3,000.00	\$150,000.00
281	72-inch Diameter	50	LF	\$3,600.00	\$180,000.00

PBA #25-0597-PB Title: Rehabilitation Services for Sanitary Sewer Mains and Stormwater Mains

	- Line Reconstruction C900 > 10' Depth 15-inch Diameter	100	LF	\$400.00	\$40,000.00
282		100	LF	\$430.00	\$43,000.00
283	18-inch Diameter	100	LF	\$563.00	\$56,300.00
284	24-inch Diameter	100	LF	\$694.00	\$69,400.00
285	30-inch Diameter	100	LF	\$894.00	\$89,400.00
286	36-inch Diameter		LF	\$1,669.00	\$166,900.00
287	42-inch Diameter	100	LF	\$1,800.00	\$180,000.00
288	48-inch Diameter	100			\$240,000.00
289	54-inch Diameter	100	LF	\$2,400.00	\$300,000.00
290	60-inch Diameter	100	LF	\$3,000.00	
291	66-inch Diameter	50	LF	\$3,600.00	\$180,000.00
292	72-inch Diameter	50	LF	\$4,200.00	\$210,000.00
ine Reconstruc	tion (concrete collars are incidental) > 8' depth	and under roadwa	iys		
293	15-inch Diameter RCP	250	LF	\$194.00	\$48,500.00
294	18-inch Diameter RCP	250	LF	\$205.00	\$51,250.00
295	24-inch Diameter RCP	250	LF	\$226.00	\$56,500.00
296	30-inch Diameter RCP	250	LF	\$273.00	\$68,250.00
297	36-inch Diameter RCP	250	LF	\$307.00	\$76,750.00
298	48-inch Diameter RCP	250	LF	\$389.00	\$97,250.00
299	54-inch Diameter RCP	250	LF	\$464.00	\$116,000.00
300	60-inch Diameter RCP	250	LF	\$510.00	\$127,500.00
301	72-inch Diameter RCP	500	LF	\$658.00	\$329,000.00
INDE Line Reco	onstruction < 8' Depth				
302	15-inch Diameter HDPE	250	LF	\$160.00	\$40,000.00
303	18-inch Diameter HDPE	250	LF	\$171.00	\$42,750.00
304	24-inch Diameter HDPE	250	LF	\$193.00	\$48,250.00
305	30-inch Diameter HDPE	250	LF	\$244.00	\$61,000.00
306	36-inch Diameter HDPE	250	LF	\$252.00	\$63,000.00
307	42-inch Diameter HDPE	250	LF	\$278.00	\$69,500.00
308	48-inch Diameter HDPE	250	LF	\$336.00	\$84,000.00
309	54-inch Diameter HDPE	250	LF	\$372.00	\$93,000.00
310	60-inch Diameter HDPE	250	LF	\$424.00	\$106,000.00
311	72-inch Diameter HDPE	500	LF	\$468.00	\$234,000.00

EXHIBIT D - CITY OF DAYTONA BEACH AGREEMENT

The City of Daytona Beach "General Services Term Contract No. 2506" can be found in the Contract Documents at the following link:

https://procurement.opengov.com/portal/pinellasfl/contracts/161031

EXHIBIT E - CITY OF DAYTONA BEACH INVITATION TO BID (ITB)

The City of Daytona Beach ITB No. 2506 can be found at the following link:

https://procurement.opengov.com/portal/codb/projects/123058/document?section=all

EXHIBIT F - INSITUFORM TECHNOLOGIES, LLC ITB RESPONSE

Insituform Technologies, LLC Response to The City of Daytona Beach Invitation to Bid (ITB) No. 2506 can be found in the Contract Documents at the following link:

https://procurement.opengov.com/portal/pinellasfl/contracts/161031

EXHIBIT G – BID PACKET

FRONT PAGE OF PUBLIC CONSTRUCTION BOND

	Bond No
CONTRACTOR:	Name:
	Phone:
SURETY:	Name:
	Phone:
AGENT:	Name:
	Phone:
OBLIGEE:	Name: Pinellas County, Florida Primary Business Address: 400 S. Ft. Harrison Ave. Clearwater, FL 33756 Phone: 727-464-4382
CONTRACT BOND AMOUNT:	T HONE. 121-404-4362
	:

BID NO. AND TITLE:

25-0597-PB

Rehabilitation Services for Sanitary Sewer Mains and Stormwater Mains

Title: Rehabilitation Services for Sanitary Sewer Mains and Stormwater Mains

BOND NO.

PERFORMANCE BOND

That and Located at:	, as Principal, , as Surety,	
(Business Address) Are held and firmly bound unto Pinellas County, Florida, as Obligee in the sum	(Phone Number)	
of	DOLLARS \$	
our heirs, executors, personal representatives, successors and assigns, jointly and s	severally.	

WHEREAS, Principal has entered into a Agreement with Obligee for **Bid Title: Rehabilitation Services for Sanitary Sewer Mains and Stormwater Mains, Bid No: 25-0597-PB,** in accordance with City of Daytona Beach General Services Term Contract No. 2506, which Agreement is incorporated by reference and made a part hereof, and is referred to as the Agreement.

THE CONDITIONS OF THIS BOND is that if Principal:

- 1. Performs the Agreement at the times and in the manner prescribed in the Agreement; and
- 2. Pays Obligee any and all losses, damages, costs and attorneys' fees, including appellate proceedings, that Obligee sustains because of any default by Principal under the Agreement, including, but not limited to, all delay damages, whether liquidated or actual, incurred by Obligee; and
- 3. Performs the guarantee of all Work and materials furnished under the Agreement for the time specified in the Agreement; then this bond is void; otherwise it remains in full force.

Any changes in or under the Agreement and compliance or noncompliance with any formalities connected with the Agreement or the changes do not affect Surety's obligations under this bond.

The Surety, for value received, hereby stipulates and agrees that no changes, extensions of time, alterations or additions to the terms of the Agreement or other Work to be performed hereunder, or the Specifications referred to therein shall in anyway affect its obligation under this bond, and it does hereby waive notice of any such changes, extensions of time, alterations or additions to the terms of the Agreement or to Work or to the Specifications.

This instrument shall be construed in all respects as a statutory bond. It is expressly understood the time provisions and statute of limitation under Section 255.05 Florida Statutes, shall apply to this bond.

Title: Rehabilitation Services for Sanitary Sewer Mains and Stormwater Mains

	ies have executed this instrument thisday of,2025 oresents duly signed by its undersigned representative, pursuant to authority
Signed, sealed and delivered	PRINCIPAL:
In the presence of:	(Authorized Signature)
Witness as to Principal	(Print Name)
Witness as to Principal	(Title)
TATE OF FLORIDA OUNTY OF	(Business Address)
ne foregoing Instrument was acknowledged befo	ore me this
/ f ,	 . a
	e is personally known to me or has produced Florida
	Notary:
	Print Name: Commission Number:

BOND NO. ____

Title: Rehabilitation Services for Sanitary Sewer Mains and Stormwater Mains

	BOND NO
	SURETY:
Witness as to Surety	(Authorized Signature)
Witness as to Surety	(Print Name)
	(Title)
or	(Business Address)
Witness as to Attorney In Fact	(Signature As Attorney In Fact) (Attach Power of Attorney)
Witness as to Attorney In Fact	(Print Name)
	(Title)
	(Business Address)
	(Telephone Number)
STATE OF FLORIDA COUNTY OF	
The foregoing instrument was acknowledged before m	ne this
By Of ,a_	
Corporation, on behalf of the Corporation. He/She is p License as identification and who did (did not) take an	personally known to me or has produced Florida Driver's oath.
No	otary:
Pr	rint Name:
Co	ommission Number:
M	y Commission Expires:
	·

Title: Rehabilitation Services for Sanitary Sewer Mains and Stormwater Mains

	BOND NO
PAYMENT BOND	
BY THIS BOND, We (hereinafter called the ("Principal" and (hereinafter called the ("Surety"), located at	
A surety insurer chartered and existing under the laws of the state of	
and authorized to do Business in the State of Florida, are held and firmly bound unto Pinella (hereinafter called the "County") in the sum of	is County
DOLLARS \$	
For payment of which we bond ourselves, our heirs, our personal representatives, our succeipintly and severally.	essors and our assignees

WHEREAS, Principal and County have reached a mutual agreement (hereinafter referred to as the "Agreement") for **Bid Title: Rehabilitation Services for Sanitary Sewer Mains and Stormwater Mains, Bid No: 25-0597-PB,** said Agreement being made a part of this Bond by this reference.

NOW. THEREFORE. THE CONDITION OF THIS BOND IS THAT IF THE PRINCIPAL:

- 1. Shall promptly make payments to all claimants as defined in section 255.05(I), Florida Statutes, Supplying the Principal with labor, materials or supplies, as used directly or indirectly by the Principal in the prosecution of the Work provided for in the Agreement and;
- 2. Shall pay the County for all losses, damages, expenses, costs and attorneys' fees, including appellate proceedings, that the County sustains because of a default by the Principal in contravention to the Agreement in regard to payment for such labor, materials, or supplies furnished to the Principal; then this bond is void; otherwise this Bond remains in full force and effect.

BE IT FURTHER KNOWN:

- 1. Any changes in or under the Agreement and compliance or noncompliance with any formalities Connected with the said Agreement or alterations, which may be made in the terms of said Agreement, or in the Work to be done under it, or the giving by the County of any extension of time for the performance of the said Agreement, or any other forbearance on the part of the County or Principal to the other, shall not in any way release the Principal and the Surety, or either of them, their heirs, personal representatives, successors or assigns from liability hereunder, notice to the Surety of any such changes, alterations, extensions or forbearance being hereby waived.
- 2. Certain claimants seeking the protection of this Bond must timely comply with the strict Requirements set forth in Section 255.05, Florida Statutes, and as otherwise provided by law.
- 3. The Provisions of this bond are subject to the limitation of Section 255.05(2).

Title: Rehabilitation Services for Sanitary Sewer Mains and Stormwater Mains

POND DATE THE DAY OF	MAY OF 2025
BOND DATE THE DAY OFD date of issue by the Surety or by the Surety's	agent and the date of such agent's power-of-attorney)
Signed, sealed and delivered	PRINCIPAL:
	(Authorized Signature)
Witness as to Principal	
withess as to i findipal	(Print Name)
Witness as to Principal	
	(Title)
	(Business Address)
STATE OF FLORIDA	
COUNTY OF	
The foregoing instrument was acknowled	dged before me this
Ву	
Of	, a n. He/She is personally known to me or has produced Florida Driver's
Of	n. He/She is personally known to me or has produced Florida Driver's
Of Corporation, on behalf of the Corporation	n. He/She is personally known to me or has produced Florida Driver's
Of Corporation, on behalf of the Corporation	n. He/She is personally known to me or has produced Florida Driver's id not) take an oath.
Of Corporation, on behalf of the Corporation	n. He/She is personally known to me or has produced Florida Driver's id not) take an oath. Notary:
Of Corporation, on behalf of the Corporation	n. He/She is personally known to me or has produced Florida Driver's id not) take an oath.

BOND NO.____

Title: Rehabilitation Services for Sanitary Sewer Mains and Stormwater Mains

STATE OF FLORIDA BOND NO. SURETY: Witness as to Surety (Authorized Signature) Witness as to Surety (Print Name) (Title) OR (Business Address) Witness as to Attorney In Fact (Signature As Attorney In Fact) (Attach Power of Attorney) Witness as to Attorney In Fact (Print Name) (Title) (Business Address) (Telephone Number) COUNTY OF _____ The foregoing instrument was acknowledged before me this By Of , a Corporation, on behalf of the Corporation. He/She is personally known to me or has produced Florida Driver's License as identification and who did (did not) take an oath. Notary: Print Name:

Commission Number:
My Commission Expires:

19.